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QUESTION: 68 

An administrator is creating a new organization and wants it to be active. What is 

needed? 

A. Site 

B. Location 

C. Clearing Account 

D. Shrinkage Account 

Answer: C 

QUESTION: 69 

A company had initially defined an item as non rotating but wants to redefine it as 

rotating. The administrator is unable to redefine the item because the rotating checkbox 

is read only. How can this change be made? 

A. Attach the rotating item to assets in the Assets application. 

B. Use the Change Item Number action in the Assets application. 

C. Receive rotating items and create serialized asset records for the rotating item. 

D. Ensure that there is no inventory balance. Reconcile balances in the Inventory 

application.  

Answer: D 

QUESTION: 70 

An administrator needs to record labor transactions against a closed work order. How 

can this be achieved? 

A. Edit Closed Work Order 

B. Edit History Work Order 

C. Duplicate the work order 



D. Change the status to APPR  

 

 

Answer: B 

 

 

QUESTION: 71 

The specifications for a workflow process call for the purchase order to be placed in a 

manager's workflow inbox if it falls within the manager's approval range. What type of 

node should be used? 

 

 

A. A wait node so the record will wait for approval. 

B. An inter action node so the manager can work with the PO. 

C. A task node with an assignment row so the record can be approved or canceled. 

D. A condition node so the manager can use the expression to decide whether to approve 

or cancel the PO.  

 

 

Answer: C 

 

 

QUESTION: 72 

What is required for all asset relationships? 

 

 

A. A target location. 

B. Only a target asset. 

C. A source and a target. 

D. Asset relationship rules.  

 

 

Answer: C 

 

 

QUESTION: 73 

A company generates work orders both manually and from PMs. Material is needed to 

support the implementation of these work orders as soon as possible. Which status 

supports this need? 

 

 

A. WSCH 

B. WMATL 

C. WAPPR 

D. WPCOND  



Answer: B 

 

 

QUESTION: 74 

A company is using a meter based PM for an asset and requires that a work order be 

generated when the recorded meter reading equals or exceeds the specified meter 

frequency. Which settings are required to accomplish this? (Choose two.) 

 

 

A. Generate Work Order When Meter Frequency is Reached? checked 

B. Generate Work Order When Meter Frequency is Reached? unchecked 

C. Use Last Work Order's Start Date to Calculate Next Due Date? checked 

D. Generate Work Orders Based on Meter Readings (Do Not Estimate)? checked 

E. Generate Work Orders Based on Meter Readings (Do Not Estimate)? unchecked  

 

 

Answer: A, D 

 

 

QUESTION: 75 

A company has set up a workflow process to automatically start on new work orders, 

guiding them to an approval role. Once approved, the workflow then waits for a mobile 

user to perform a status change indicating work has been initiated. Which of the 

following events is specified on the wait node? 

 

 

A. maximo.workorder.delete 

B. maximo.workorder.initiate 

C. maximo.workorder.statuschange.appr 

D. maximo.workorder.statuschange.inprg  

 

 

Answer: D 

 

 

QUESTION: 76 

An administrator is creating a Work Order Backlog KPI within the KPI Template 

application. The administrator wants to create multiple individual KPIs from a single 

KPI Template. What feature in the SQL statement enables this? 

 

 

A. Value 

B. Variable 

C. Object Name 

D. Where Clause  



Answer: B 

 

 

QUESTION: 77 

Where is the Default Item Status specified? (Choose two.) 

 

 

A. Site 

B. Item Set 

C. Item Master 

D. Organization 

E. Item Template  

 

 

Answer: B, D 
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